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SN BYS
A HZRIZH|(ZLYS)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
adgs 766,048 1,032,912 A\266,864
BY2IHY(FSS) 74,969 86,509 11,540
JlI=23sl 74,969 86,509 211,540
JI=23Hl 74,969 86,509 211,540
201 fer= 3| 23,209 34,789 211,580
01 At 2|l 15,513 13,998 1,515
OJIZAeESEl 30,0002+ 14 420
OAx2d S35+l 50,000 * 122 600
OBZESA 228 sLHEX S 7
25,0003 104} X} 250
OgRF4 =AM 20,0002 x5 100
QtET=Z 10,0003 x5+ 123 600
OAaRE =4 50,000% 122 600
ongze=g 30,0002 x5+ 123 1,800
OJlzgesd gt
55148, 0002 * 122 5,280
OstE=s 19 10024 +4,0000} 400
OSHYUL %W 222 MR (ML)
110,000& *62] 660
O Q=) TRl ADE Y
400,000 400
OS0Iolg B3| A2E 7Y
540,000& 540
Oplad Higg &X1 2elHI(12HE)
35,2002 1L =122 423
OYezzg 222 ME 480
—gj2im 20,00021+63] 120
—Bp0 60,0002+63] 360
OZZaE EH7Y 8800002425 1,760
OseloIABI)| 7Y
300,000 43 1,200
02 S3=gHl 7,6% 20,791 13,095
ORER3 7,6%
—25 4002 *4,0005 1,600
—S 2,180&+2,700& 5,886
-S| gEr 2,100& 1008 210
202 04dl 39,760 39,760
01 2L AL 2,800 2,800
oJlg S8 =L 2,800,000& 2,800
02 XN 36,960 36,960 0
O A 04| 220,0002 x14E 128 36,960
203 HR=H] 10,200 10,160 40
01 J|2=2gdR=a] 6,600 6,600 0
os# 6,600,000 6,600




SN BYS
M HZYRAZH|(ZLS
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 FRItHAA =AY 600 560 40
OXBADIA A HLIES, AL & A
INE=S 40,0002 *15& 600
MU FA2HLIRFLI 3,000 3,000 0
OFANEgg =AY 250,000 x 122 3,000
204 MR AH| 1,800 1,800
01 MG H2=HAHH| 1,800 1,800
os# 150,000« 12& 1,800
2SS Foldg #wol sd 691,079 946,403 N255,324
MEEHEY| 366,918 365,379 1,539
SeH & 22 AY el 17,082 16,227 855
101 21A4H| 9,393 9,234 159
04 JIZtN22 XS+ 9,393 9,234 159
OL=4=1= 948,080& 949
Oddtl =y 85,6803 x4 »20! 6,855
OXHolCHZ el 99,2803 x4 +4L 1,589
201 er2 3| 2,005 1,309 6%
01 At2teltl 270 270 0
Oz HHE CTV RA2=+
30,000%90 12 270
02 s3=gHl 1,735 1,039 696
OuFIl #57 & 2 FA(=2Y EH|DI) 439
—SeYR 1,5912 %100 £ =22 319
—2g 20,0002 +63] 120
OZU HE CTV I3
23,0003 %123 276
OBYS U7 HBW FIIQ2
60,0002 122 720
OtETEEY KXz
100,000 #32] 300
203 HR=4AY] 1,000 1,000
03 A=A PR FA| 1,000 1,000
Odgeddl =8 S 1,000,000& 1,000
206 M=l 4,684 4,684
01 M= HI 4,684 4,684
O==28dH & 2224 ¥, 0t S X
M e 884,000 884
ORSH &4 o4& 72
8,000 +60 £ +23] 960
OZZ X4 Hlz 7
8,000& 40 XL #22] 640
O==2H sZFHIE stz 7Y
110,000 +20H 2,200
T2 2 MSAE2 88,036 87,352 684




SN BYS
M S FOIME HOl ZX
el MEeEdEl (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
201 LB-2AH| 3,036 2,352 684
02 324l 3,036 2,352 684
OO2EZ2SE & HOIEEE R3S
15,0003« 12& 1,380
OsUl MESAE MRS
115,000 x 12& 1,380
O2EE"E =223
23,0002+ 12& 276
401 A& HIZ 200 85,000 85,000
01 Al&HI 85,000 85,000
O3& 838 &dl & sul MsAE £X
9,000,000% 14 9,000
OE=H HIAHHK] JIA 20,000,000 20,000
O IMBAIERX 2L (2SLEHME Al
ARI6IH 4 ) 4,000,000 4,000
O&zH S%el)| 22,000,000 22,000
OLAR S3AE A2 L M8ty §
HIAFS 20,000,000 14| 20,000
o&g 92X sAlzel
10,000,000 * 14! 10,000
FOI=2AAS 251,800 251,800 0
401 AIEHIZ20HHI 251,800 251,800
01 Al&HI 250,000 250,000
OZY 2BV Z7F BYA ZUITA
20,000,000 20,000
OJIokAH S4&t2 HHIZAL
20,000,000 20,000
ORYY LAY HE L SBIY)
20,000,000& 20,000
OJI0katEdl 2 S 3 EHIA Y
20,000,000 20,000
O&g 2el33 W NLYES AXI3A
20,000,000& 20,000
OYAMEIZ 2t &F Fd|
10,000,000 10,000
OZISFRIXXIME =H 2ZH|
20,000,000 20,000
OJt0taE 22 B =8 HU|ISAL
20,000,000& 20,000
OE2AECIIOIE ZHS AXIBA
30,000,000 30,000
OZg a7 el & EdlArY
20,000,000 20,000
OEHEZX Hel S+ 82 EX3A
30,000,000& 30,000
O=0l ETAIE fAAY
20,000,000& 20,000




SN BYS
M APz FoIME mel s
Rl dEetd g (Gt H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
03 Al CHYI 1,800 1,800 0
OAIZ 201l 1,800,000& 1,800
A2 EHEE 249 332,461 589,924 A257,463
s.2.0E 823 B4 103,180 103,180 0
301 LPENF 103, 180 103,180 0
07 8% - 01% - IS4 103,180 103,180 0
OsFJ 2= 300,000 x21H+ 123 75,600
OSN3 300, 0002 21 *200% 12,600
Os&3|9 A&
20,0003 23| x21H x 128 10,080
Opt& =g 25,0002 +23|*98Y 4,900
FOXXEEH 2% K& 107,778 291,964 A 184,186
201 L2 | 23,548 61,34 N37,786
01 At 22|l 16,360 20,093 A3,733
OE2Y s22 &9 HME
66,0002 * 100K 660
omz )y =582 &3 M
250,000 #43] 1,000
OFURAME 2Y £28 2
6,000,000 14 6,000
OFQUXX 2etE= ) HA =IF gk
= 600,000 *1CH 600
OFCUNXIME ZHel=2d S8 & UHE
bl QX2 2,500,000%14} 2,500
OZQINXIFINE MY slol BaL
20,000«25E *10& 5,000
OFCIRXRE &K AE MHSEAXZ
600,000+ 1CH 600
02 2324l 1,188 41,241 240,053
OFQUXXIHE Y 23
37,0003 «2CH* 123 888
OMEHAA HOIE YER=S
25,0003 128 300
03 SAt2GH] 6,000 0 6,000
OFCUXXIME &2 LHHS
3,000,000%13| 3,000
OFOUNRME Z2 02 24N 2He|2H
3,000,000 *13] 3,000
301 LPENF 82,230 78,630 3,600
11 HALAHI XA Z 3,030 1,230 1,800
OFIMXIAY HEK| A8t
40,0003 25 *13| 1,000
OXIZS ZFOINAARS 2t ZNES 2
WIRMAL FIHE 4 40,0003 +25H*12] 1,000
OFLURNRZZ2 8 2AF 2HE 3]
8,000x 15 *43| 480




SN BYS
M B FOIME HOl =X
e A B =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OANZE03l S BAFSAT 243
550,000 550
14 DBt 2 a3 79,200 77,400 1,800
OFQTRME Z2OH2H LA 79,200
—diuwd S s
80,0003 x22|x45=+0F +8IH 4 & 46,080
—Milwd S s
115, 0003 x22| x4Z=+9 3 x4 & 33,120
401 AlE2HIZ SO 2,000 2,000
01 Al&H| 2,000 2,000
OFAXXIHE SRz
2,000,000& 2,000
AMEIEEstna 24 320 46,060 A\45,740
201 =3 320 5,060 VAV ()
01 AtR2t2lt] 320 320 0
O+2M DF 22 s40t MR
100,000%22] 200
OoaRE 7¢ 30,000+42] 120
AL R Tt 7A2c 117,492 148,071 /30,579
201 fer= 3| 83,492 55,071 28,421
01 AtR2te|HI 13,887 28,600 14,713
OFA SHEE W& 1,500,0002 %14 1,500
OFA 0| llgt| 200,000 * 122 2,400
Od=JI8 Add 7 30,000 «7H 210
OEH=21, Al 7 1,000
—EH=01 10,0002 %5001 * 12} 500
—AlD| 10,0002 %5001+ 12l 500
OsgHsE7 130,000 *42] 520
Ot s+ 42,0002 62| *8IH A 2,016
Ostyasi=e=+Y
40,0003 *62|*8JH A 1,920
Ostd e N3HI=7E
45,000%22] *8JH 2 720
Ozt agyert e
12,0002 «63| x84 A 576
Ostad JIeEAA2E5+7Y
10,0002 x65 81 2= 400
OARA AN 25,0002 *17H 425
OB S3EHIE ot=27E
100,000& *22] 200
OX& Ml s =3 & 222 MR
2,000,0002 %14 2,000
02 S3=gHl 69,605 26,471 43,134
OXg ==U 1,591 %10, 000km*10% 1,591
Oxtgr= Il 500,000 500
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M B FOIME HOl =X
Rl A FoEE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2Sxtg ASIHA 30,0002 «1CH 30
OZEitg e 293
50,0002 *23] 100
OSAEA & FUNKIEEH SI3H| 2l
= 250,000 * 122 3,000
OSAISA 2 FRNXME Ha 2
2,000,000+ 12& 24,000
OSAEa & FUNXHE A2e| 5
29 300,000+ 12& 3,600
OSAIRA & FOTXIHE ~2etE 22X
w=H 200,000& *1 200
OSAIRa & FUXXHEH sH)| 28=
50,0002 %13 50
OSAIRA & FUXIAH sZI| FA2
cl 29 200,000 «2CH* 12& 4,800
OSAEA & FUNKEEH &HJjetE 2|
= 300,000% 122 3,600
OSAMEa & FUNXHE =23
200,000 122 2,400
OSAEa & FULNXHE &I
2,000,000 122 24,000
OSAMPA ¥ FUXXAH 2 A=
170,000 %52 850
OSAIR2 & FUXXNHH sHJ| &2
cl At w=H| 22,0003 x4 4
OSM2A TV REZSE
35,0008 «2CH* 122 840
401 AIEHIZ SR OHYI 34,000 14,000 20,000
01 Al&HI 34,000 14,000 20,000
OSAIRa & XXM 2= RA2e
10,000,000 * 104 2 10,000
OSAMEa & FUNXIHE 233
4,000,000& *14] 4,000
OSAEA & FUNXIEEH AHSII1E 2]
AN 20,000,000 *1IH 2 20,000
SHAIEO F=REd 3,691 0 3,691
201 2= 2,000 0 2,000
01 AtR2t2lt] 2,000 0 2,000
O=2UFMABELH XHze 34 =&
20,0002 * 16 *22] 640
OXNGSAI2ZEAN 212 &4 =&
20,0003 *17H*43] 1,360
301 EetE NS 1,691 0 1,691
11 #AIAHIXIE S 1,691 0 1,691
OAIEE 03| & ABHA A 24
1,691,000& 1,691
=0 =X =& 1,700 1,100 600
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